BEREOFEVNVAZEZD

[1]
® (

—f-AL +1AL

BRADLL A, FWVAZEZ LS,
DHRIZESEEPEEZANEL LS,

Bt
BROKE E&2ETINDHI2E ( CEROEY )
95,
BRI ZONRT VO T, FnHICEET S,
EOROERITIL, ( + ) 7=
AL 1TEE ( — ) AL 3D
Do =T LR, HARDBEIROREZITELSTS
A, 500mA(0.5A), 50mA(0.05A) & XB &5,
LA
O F\EiEto ( + ) =ALIC
J A B ( + ) HED B D

a7 <,

® Wiz, MAEMDO—HR, AL vF, EHAO
DNEZ DN TEHh &, BEAD DOEREE
WEtDHALO—FRZ W ( 5A )
D=7 LT <,

® AAvFEBLT, EistoHOSNERS,
HOSNNDITE S L XL, 500mA, 50mA
=T LEIRIZORENZ 5, £ 5T,
HOSNBREL R, AT <D,

FEE A B C )

F 48 T AH
[2] BEYDGRAAZTEIZ

1. () ®¢l~n5;*béﬂ%, HMFEEANFEL LS,

B O A O ERR A B E O+ 72 T o ( S ) D3/
hLJ:Oi£<O'—%¢N§ﬁ%3 &L, —AloER %A 500mA
( 5A ) O—T ALz D=7 LTz 5,

WTH S ( AA T ) B AND,
500mA=0.5A  50mA=0. 05A
. & (1000mA=1A)
BAD—F=A LIZDARVEE = 500mAD—1-A LIZDNEEE
® @ ®

N A \\\\\\\\mhm/uu// W, s
\ & D
x§”\ /WM” -
50

0 \\\\\\\\u \m|vm y”,//l/// .

40/5

/+
/0

500mA O —7=A LIZD <&, #n

R&ELEHENT, ( 200mA ) OFE
WAL TND Z & DD D
SHIZEHDSB NSV E XL, —

DER A, 50mA O — 7= LITHO72EHh
2D,

2. $#A20mMAZEEL TR EE
50mA ) —t=A LIZDIEIF S LT
ES5G2TLEIMN?

s —FHIIWo T FEFITR D,
cIEVEINTLE D,

HRT, 4, TOHEDERD
KREEZEHEAHLEVDELE D,

7 0. 5A )
14 2 A )
7 ( 3. 5A )



